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62.

63.
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65.

ffef@a & O Fas seaua Rgia
gfaurfed feram

(a) ST, At

(b) FAT3S dr TSI

(c) SYATTIAGERT

(d) THAIX

“gg 9fehdT fTdsh @Rl &dl Ig Tgdledel H
fathel B € T Ig 3eTeht oA § ST a&g3il
3o oA ST 8", AT o SU gl &:

(a) 3rerHTFT

(b) ARFT

(c) HHATSIdIG

(d) TaRremsreE

Tsh AEhIceh a& T IRUMA § S Teh Jomrelr
o 3feTehelel AT HHTATSTET T Ha T 8

(a) T

(b) 3TTFT P

(c) IcTe&T dr

(d) fafear

AT 3 fehdrare # Hof faur I8 & &
JAS AT 3d:fohar 7 @renfore aredfashdr
&1 fAATOT 3% ganrT fohar Arar g
(a) ASE
(b) AR
(c) St
(d) ferame
AT e U feu 1w §, e & ATARAA (A)
3R g8 ! HROT (R) gl IAT 8
HARYT (A): AT I 29 & fafdse
fagid a1 Hafdd 81 aar g, dfed [Agid
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FROT (R): AT A0f T TReEHIUT T cafad
3R FHATST & T THg R SR B
(a) = (A) 3R (R) T & AR (R) (A)
frogrcIrEaTg
(b) T (A) 3R (R) TET & AR (R) (A)
T TET TISEIHIUT 18T &
(©) (A) T & elfeheT (R) AT &
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Who among the following propounded the
Alliance Theory?

(a) G.P. Murdock

(b) Claude Levi Strauss
(c¢) B. Malinowski

(d) F. Meyer

"The process by which actors fail to recognise
that it is their labour that gives the commodities

their value", is termed by Marx as:

(a) Fetishism
(b) Emancipation
(c) Socialism
(d) Contradiction

The consequence of a cultural item that lessens
the adaptation and adjustment of a system is:

(a) Function

(b) Latent function
(c) Manifest function
(d) Dysfunction

The basic idea in social interactionism is that
social reality is constructed in each human

interaction through the use of:

(a) Words

(b) Gestures
(c) Symbols
(d) Actions

Given below are two statements, one labeled as
Assertion (A) and the other as Reason (R):

Assertion (A): The Middle Range Theory does
not refer to a specific theory, but is rather an

approach to theory construction.

Reason (R): Middle Range approach focuses on

groups rather an individual and society

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)

(¢) (A)istruebut(R)is false

(d) (A) is false but (R) is true
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67.

68.

69.

A& # @ et Sf cgawr & fadwdr
el &7

(2) I f3aTE

(b) ATHATISTR FeTsha

(c) ARATITT HTHTY

ORIGEES

rafaf@a & & i O 3rauror @ 8T
ea @ geafaag?

(a) 3teTeTaaTe

(b) FTATcHSD Tfrardr

(c) GrATTSS FHede

(d) gcfreprcares 37d:fohamarg

fRI&Teh T FUHTT hgel arel oAl HI fhaesh
3TE0T o ¥ H HATAT ST ThdT ¢

i) erRdfaar

i) Ofa Rara

iii) shlefe

iv) #AGIGS

V) 91

=AY feT 97T e T JATT T FeT ek IiAT:
C

(@) (i) 3R (v)

(b) (iv) 3R (v)

() (i) 3R (v)

(d) (@), (iv) 3R (v)

FTeleTehi A o HT ggaled w1 fae gaid
T TTATY fears &

i) TSI Ugid & fas

ii) 3TcHgcAT

i) a1fde SfhasT & IRfAS &7

iv) TATST H 57 a8t

=T feT 97T she T JATT Y el Sce ieAT:

El‘z_c.'.':

(a) (i), (iii), (iv) 3 (i)
(b) (iv), (i), (i) 3 (i)
(©) (i), (iii), (if) 3R (iv)
(d) (iv), (i), (ii) 3R (i)
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Which of the following is not a characteristic of

Caste System?

(a)
(b)
(©)
(d)

Endogamy

Social Hierarchy
Hereditary Occupation
Achieved Status

Which of the following concept is associated
with C. Wright Mills?

(a)
(b)
(c)
(d)

Empiricism
Functional Imperatives
Sociological Imagination

Symbolic Interactionism

Students saying good morning to a teacher can be
regarded as an example of:

i)  Folkways

i1) Mores

iii) Laws
iv)
v) Customs

Norms

Select the correct answer using the code given
below:

Codes:

(a) (i) and (v)

(b) (iv) and (v)
(c) (ii) and (V)
(d) (1), (iv) and (v)

Identify the chronological order in which the
works of Durkheim appeared?

i)  The Rules of the Sociological Method

ii) Suicide

iii) The Elementary Forms of Religious Life
iv) The Division of Labour in Society

Select the correct answer using the code given
below:

Codes:

(a) (i), (ii1), (iv) and (ii)
(b) (iv), (i), (iii) and (ii)
() (), (i11), (i1) and (iv)
(d) (iv), (i), (i1) and (iii)
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e gfehar foas fafdse a2t & areaiieor
T 3TTHTET STRITAT STl &, AT g ellall 67

(a) TAIHeATCHs Al

(b) IETHATHSD fafer

(c) HHATAIT

(d) T

2T TIg FI fAe1fai@d &7 & ST &Y deheileh
UfeTiaen Qier AR Hhig-Aiehide HeTTeT &
fore 31ferer sugerda &7

(a) TTETTCHR T

(b) ITTFdH T

(c) FTHIT TaeiyoT

(d) 98TIT deheileh

ag TTSeehIor St 39 faeard oY 3matiRd § f&
FIHedT GanT §X ST9Tg A3t Ht ffaw &
(a) FHEXGL ARETG

(b) FATSATET ARG

(c) HAATILATUTCHS ARG
(d) 3R aARYarg
CIEACIGATEIC)

ERG R

(a) 3oordeT

(b) Getell

(c) 3mfe

(d) 9&IOT

TN T 3TATT

“ORFARE FATST HT GIRA gl s &
G FieT 87

(a) TE.UA. SATES

(b) Eoopic I

(c) arig g

(d) 3T TR

frafaf@a 7 @ fra gareeme T o aRa &
Y AT T=AT 1 Ffiehor Jed fomar
&2

(a) THE g

(b) ST ek

(c) 3Tt AR

(d) J&¢ ITHes
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A process in which generalizations are inferred
from specific facts is known as?
(a) Deductive method

(b)
(¢) Reduction

(d)

Inductive method

Logic

Which of the following technique of data
collection is more suitable for historical research
and cross-cultural studies?

(a) Interview Schedule
(b) Case Study
(¢) Content Analysis

(d)

Projective Techniques

The perspective which is based on the belief that
women are everywhere violently oppressed by
patriarchy is:

(a) Radical Feminism

(b) Socialist Feminism

(¢) Psychoanalytic Feminism

(d)

Liberal Feminism

Ethnomethodologists use
experiments.

(a) Breaching

(b) Listening

(c) Etcetra

(d) Typifications

Who is the author of a book "The Passing of
Traditional Society"?

(a) S.N. Eisenstadt

(b)
(¢) Yogendra Singh

(d)

Talcott Parsons

Daniel Lerner

Which of the following Sociologist has
presented the classification of Agrarian Social

Structure in India?

(a) S.C.Dube
(b)

(¢) Daniel Thorner
(d) Robert Redfield

Irawati Karve
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S F1 S &ifast &7 & FAfRd g § 3R
31 faerra & fore faQy Aifaat $r #ver Fch
&, Y 98 59 YR T T &

(a) TSI Gof

(b) GITT HHE

(c) SoT@ ST

(d) 39eT 319 H gaT

Teh Hddel ¥4 g Sl Afdd &I
aifafafer s eTRa war gl
(a) 3&H
(b) 316H
(c) EageTd
(d) ITEH

fArAfaf@a FUaT & 3UR 91, ST T1 FI8
eI 8?

HYA I: ST T AT Tierd I e T fear
SITdT &, STefeh Gd1 & goll edied GanT ured
T ST |

HY 11: 337 3R F1fa et 3iafdagr aafas
EEAERINY

(a) 1HETE AfeheT I TToicl &

(b) 13TeTdl § ofohet 11 FETE

(c) 13RI agr &

(d) 13R g T &

fArafaf@d F ¥ 9 vy 37 garr o
91T 3T hell T HTATH 6T 87

(a) Yoltare

(b) 3emTdTE

ORGELGIEEE

(d) dedraoT

ffof@a & & &9 9Ra d &9 &4
Eehel AT 87
(a) 3TTH

(b) TSER
(c) ISRIA

CRGIECR
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When a caste consolidates horizontally and asks
for special policies for its development, it acts
likea:

(a)
(b)
(©)
(d)

Political Party
Pressure Group
Dominant Caste
Class for itself

is an unconscious self which

determines the activity of a person.

(a) Id

(b) Ego

(c) Reflexivity
(d) Superego

Based on the following statements, which of the
codes is correct?

Statement I: Caste status is ascribed to the
individual by birth, whereas class status is
achieved by individual.

Statement II: Both class and caste is
endogamous social units.

(a) Iis true but Il is false
(b) Tis false but Il is true
(¢c) Both I and II are true

(d) Both I and II are false

Which of the following is not the dimension of
modernity as given by Anthony Giddens?

(a) Capitalism

(b) Industrialism

(c) Surveillance Capacities
(d) Globalisation

Which of the following is the least urbanized
State in India?

(a) Assam

(b) Bihar

(c) Gujarat

(d) Himachal Pradesh
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AFfafEd s fAem

TROTT ICEIECT
A YU WGFE L U¥Eh @sH
B. €I {a 1. S9THS §iAT
C. JoIg M1 3R dhr
D. REF AR IV.eRA™
EI‘QT:

A B C D

(@ NI T IV 1
M 1 1o IV I
¢ 1 1 m IV
@@ v 1 1 I

e o & deor ¥ Tefda Tohfga aF
fargTa foraeh earT gfadnfea faam ara a:

(a) sofd

(b) 3. AR

(c) UH HECo

(d) 8rad

el ST &1 o & b i dellare o
fafeTor ferss & 3cuea Far & ows
HROT HH g IT B

(a) Hafdd

(b) eldr

(c) 3TpRrel

(d) Ferer

wET gAETSRIE Sega A afea 3R
e T AT 9 1A fohar g1

(a) 3TITEC HIFC

(b) wHTS gEfH

(c) =TS

(d) Bleiee
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Match the following
Notion Thinker
A. Unfinished Project 1. Anthony Giddens
B. Runway II. Zygmunt Bauman
C. Holocaust III. Ulrich Beck
D. Risk Society IV. Habermas
Codes:
A B C D
(a) I I v I
(b) I I v 11
() I I I v
(d) v I I I

The Concentric Zone Theory related to the
patterns of Urban Growth was propounded by:

(a) Burgess

(b) E.J. Miller

(¢) M. Castells

(d) Hoyt

Harry Braverman argues that modem capitalism
has produced manufacturing division of labour as

aconsequence work is
(a) Augmented

(b) Curtailed

(c) Deskilled

(d) Skilled

The French Sociologist who worked on the
Trinity of Knowledge, Power and Truth is:

(a) Auguste Comte

(b) Emile Durkheim

(c) Lyotard

(d) Foucault
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HFH deX caRT &1 I ATHATSH fshaT T T8
gafieRToT &1

i) 8T F T F qhGITd HRATS

i) e o HEL H ThH HNATS

iii) IRYReR forar

iv) AAfde s

oI feT 37T e T JANT T FeT Sk IiAT:
EI‘:T:

(a) 1) 3R ii) TETE

(b) ii) 3R iii) TET &

(c) i), ii) 3 i) TET &

(d) iii) 3R iv) TET &

Fff@a & @ sila @ gaerE sfa
SIIEAT T 3cUfed & AT AT RAgia @
qeafiag?

(a) Aathres AR Shew. g3

(b) o Rrer iR Shroa. g

(c) g 3R 3T, ATHER

(d) oS ggHTC IR AEhIes

Afaf@d =1 fJemT

T T
A. tHUA NfFam 1 rHRYE
B. T sdo 11 ITHGRT
C. w.ﬁ’r.ga‘ 11 SS0T 31T
D. #H=fraARe IV SR
Elg?:

A B C D
(@ 1 I v il
(b) M I 1\ 1l
(c) I I 1\ I
(d I v I 11
V8 FARIE FIT Hgolld & oI fohdl cIiFd &

SiTaeT H Siiael-<Ish & Teh THOT § g@Y TROT H
HEcaquT Hsh0T & AT e 81

(a) AT ol

(b) AT & TEHR

(c) Eyfa Tareior

(d) ufa gag
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The typology of Social Action given by Max
Weber is:

i)  Rational Action in relation to Goal
ii) Rational Action in relation to Value
iii) Traditional Action

iv) Moral Action

Select the correct answer using the code given
below:

Codes:

(a) 1)and ii) are right

(b) 1ii) and iii) are right

(c) 1), 1i) and iii) are right

(d) iii) and iv) are right

Which of the following Sociologists are
concerned with the Racial theory related to the
origin of Caste System?

(a) Nesfield and G.S. Ghurye

(b) Herbert Risley and G.S. Ghurye

(c) Hutton and D.N. Majumdar

(d) Louis Dumont and Nesfield

Match the following

List I List IT

A. M.N. Srinivas I. Shamirpet
B. A. Beteille II. Rampura

C. S.C.Dube
D. McKim Marriot

III. Krishan Garhi
I'V. Sripuram

Codes:

A B C D
(a) I 11 v II
(b) 111 I v 11
(©) 11 111 v |
(d) 11 v I 111

Ceremonies that mark the critical transition in the
life of an individual from one phase of life-cycle
to another are called:

(a) Role taking

(b) Rites of Passage

(c) Status Crystallisation

(d) Status Set
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fArafaf@a & O i grafae Taletor Hr - 89.

FRITcHS ITATAT TET &7
(a) T§ TTEX UCTeT Flel H HCG hldT &

(b) T§ Th Yfaeqedt Haam faefad
FATE

(c) TE GHATS & Gl &I THFAGRT a3
e H FAeE AT g

(d) IE TATS H HeJugerd cafFadr Hr
UgdTe] el H FAGG PcAT &

o]l GEToT & foIt JMUR Jeid i & 90,

T T Aee] H T @Y 715 Tufa & s
H U faaR & T & ST AT 6

(a) 3 TR

(b) IRFTAT

(c) THATSS Hedell

(d) 3MTSIaSTT IeTHYTE

“3SATT gdId aifadl" T &7 HeIgT fhaa 9l

fRarg?

(a) ECdH A

(b) AT arfaaashr
(c) Eoaic =g

(d) EFas s

g1 & Al B FA-IL & Fl § AT 92,

HITSTT 3R A=) feT 91T et & § FEr ek 1
YA HITAT:

-1 g -1
A. Fifae sfaga [ ATHTCHS d2g
B. gdaor 11 ST T FATeT
C. oo 111 Teh SIS T

N

g T
D. dafefcer 3readet 1V HYT &1 wiafafer

EI;T:

A B C D
(a) 1 11 111 v
(b) I I v 111
(©) 111 v I 11
(d) v 111 11 |
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Which one of the following is not a functional
utility of social stratification?

(a) It helps in providing opportunities

(b) It develops a competitive spirit

(c) It helps in deciding the responsibility of
the members of the society

(d) It helps in identifying the unsuitable
persons in society

An idea about a given state of affairs put forward
in exact terms to provide basis for empirical
testing is known as:

(a) Ideal type

(b) Hypothesis

(¢) Sociological imagination

(d) Empirical Research

Who has made a field study of "Andaman
Islanders"?

(a) Robert K. Merton

(b) Bronislaw Malinowski

(c) Talcott Parsons
(d) Radcliffe Brown

Match items in List — [ with the items in List —II
and choose the right answer from the codes given

below:
List—1I List—1II
A. Oral history I. Quantitative data
B. Survey II. People®s knowledge
C. Sampling III. In-depth study of a unit
D. Case Study I'V. Representative of a
whole
Codes:
A B C D
(a) 1 II I v
(b)) I I v m
(c) HI v I II

@ IV I I
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94.
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ffaf@a & F *la ar dafas ggfa #r

fafrse fawdr & &9 & FET ATAT ST 82

(a) TTHAT AT ITcllhe]

(b) wfdspfa

(c) derar

(d) Taegaeraar

IGESG AL E IR T

i) @HfgH HarS

ii) e

iii)  ToaRuRT

iv) Hclorel T agTell

v) sdlaf

Th ATHTGIH 3elde § Fafad favdre r

el

(@) i), ii), i) 3R v)

(b) i), iii), iv) 3R v)

(¢) 1), 1ii), iii) 3R iv)

@ 1), iv) 3R v)

FRA P AIfANROT et T, T 7 7T 24T

o

(a)  HIQHAT TAR g arar

(b) 3HTAH 8T ST HRAG AdT o 9red
frar g

(c) SRHATATT A ST H qra AT

(d) wfshar Sra garT Teh HREAS AdT &
AfFAeT O I Teh IS I
A3t & enffAer fFar Srar g

fArAfaf@d IR g&R $r amEAfee aXaar &

it A cafad $r gger & fow fRwan oe
aerg?

(a) GANAfASRAT - 3ucfey gfasa

(b) AEHNASAT - qUTATHS FfaFT

(c) faferse - 3gafstr gfawa

(d) fafrse - guieareas gfasa
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Which of the following is not regarded as the

characteristic feature of scientific method?

(a) Common sense observation
(b) Replicability

(c) Validity

(d) Reliability

Consider the following :
i)  Collective action
ii) Leadership

iii) Ideology
iv) Restoration of equilibrium

v) Interest

Features concerning a social movement are:
(a) 1),1i), iii) and v)

(b) ii), iii), iv) and v)

(c) 1),1i),iii) and iv)

(d)

i), iv) and v)

By the term “Routinisation of Charisma“, Weber

meant that:

(a) Charismabecome permanent

(b) Ultimate goal which the charismatic leader
has attained

(c) Charisma passes from the leader to the
disciple

(d) Process by which personal qualities of a
charismatic leader are incorporated in the
characteristics of an organisation

Which of the following four types of social
structure give maximum leeway for an
individual’s initiative?

(a) Universalistic — Achievement pattern

(b) Universality — Ascriptive pattern

(c) Particularistic — Achievement pattern

(d) Particularistic — Ascriptive pattern



97.
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AR fARSer & 379l g "TfRIgeT grar &
BEIETES

(a) UTAATS galf F IRST

(b) TRTS =i #F 3myferes Seer

(c) TR & AT ATATTET hl THET

(d) TS et 7 Ag-3ufaaerErc

HRAT THATST H Efoldl & 3cdige &l THTCT

A & foIT, 3SRt aga o

(a) Giolcl T HERicoT foham ST
e 3R sfar saarer # enfae frar
ST AT e

(b) eferdt Y saTs ¥ A gRafda g
a1fgT

(c) Gfoldl &l STEATN & FHA Tqfed Bl
3SR fgar ST arfge

(d) Tg ST sgawur FATCd gt =g

“TRYST T ATRIOT" Qeg; T Y &
(a) ARG fAGIdeRl garT TEr Hr
HEcdqUT ATIATOT

(b) FH dded AR HESH FHeIoEhRr
fsRar & FRoT AR F T F
Bl T HHTGAT 96 TS §

9 TRRE ¥ Foic &1 gaua 3R N«
¥ g9 & fov aX & X v Afgen

T fSFAeRr g &
WS W MY FA drer Afger
FATSTRNETT T AT TET

(©)

(d)

nfeartaat & fRa &, 9IRa & Ffaeur &
fArfaf@d & @ la-d g g
& arel Ude s & ToIuTaT i AfFd
TeTeT il 67

(a) el 3TegEeT

(b) 3TadT 3Tq

(c) eIy e

(d) Iy 3T
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Gunnar Myrdal in his book “Asian Drama”
discusses:

(a)
(b)
(c)

Poverty in Asian countries

Modern industries in Asian countries
The problem of military dictatorship in
Asia

(d) Neo-colonialism in Asian countries

To end the oppression faced by the Dalits in the
Indian society, Ambedkar wanted:

(a) The Dalits must be Sanskritised and
included in the caste system

(b) The Dalits should convert to Christianity

(c) The Dalits should be given equal property
rights as the Brahmins

(d) The Hindu caste system should be ended

The term "feminization of poverty" refers to:

(a) The critical deconstruction of “poverty” by
feminist theorists

(b) Women’s increased chances of being in
poverty, due to low pay and greater
welfare dependency

(c¢) The way in which managing a budget and
avoiding poverty tends to be a woman’s
responsibility within the home

(d) The disproportionate number of female
sociologists who do research on poverty

In the interest of tribals, which one of the
following schedules of the Constitution of India
gives power to the Governor of every state that
has scheduled areas?

(a) Fifth Schedule

(b) Eighth Schedule
(c) Fourth Schedule
(d) Third Schedule
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Which among the following is not true about
voluntary organisation?

(a)
(b)
(c)

It is created for a specific purpose

It is informal in structure

It is inspired by the ideals of serving
social cause

(d) It formulates its policies on the basis of

government’s directives

Who has observed a link between the structures
ofthe mind and structures of society?

(a) Lemert

(b) Radcliffe-Brown

(¢) Levi-strauss

(d)

Foucault

In Sociology comprises the

social assets of a person (education, intellect,
style of speech etc.) that promote social mobility
insociety.

(a) Cultural capital

(b) Professional capital
(c¢) Economic capital
(d) Symbolic capital

Who among the following undertook a
comparative study of kinship organisations in
the four cultural zones of India?

(a) Murdock

(b) T.N. Madan

(¢) Leela Dube

(d) Irawati Karve

Who had elaborated on the evolution of
family from primordial promiscuity to
monogamy?

(a) Westermarck

(b) L.H. Morgan

(c) Levi Strauss

(d) W.H.R. Rivers
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Whose work among the following focussed on

the “household dimension” of the family?

(a) Pauline Kolenda
(b) S.C. Dube

(c) K.M. Kapadia
(d) A.M. Shah

Possession of attributes, like human nature,
agency, self-awareness among other is defined
as:

(a) Personhood
(b) Personality
(c) Embodiment
(d) Entitlement

Social networks can be described as:

(a) Set of nodes and a set of ties that connect
some or all of these nodes

(b) Social groups with defined boundaries

(c) Connections among individuals overtime
which result in social bonds

(d) Informal organizations

Symmetrical family refers to

(a) Family transforms from joint to Nuclear
family

(b) Men are taking up family responsibility

(c) Overtime, families becoming more
egalitarian in the distribution of roles and
responsibilities

(d) Only women still continue to bear family
responsibility

In elementary structures of kinship, the alliance
is based upon:

(a) Rules of exogamy

(b) Positive marriage rules
(¢) Negative marriage rules
(d) Generalized exchange
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Tebhaga movement was mainly aimed at:

(a) Social reform

(b) Revolutionary transformation of the whole
society

(c¢) Reduction of land taxes

(d) Fair price for the crops

Habitus is not

(a) Structured
(b) Durable

(c) Permanent
(d) Inculcated

Which one of the following is not a characteristic
of survey?

(a) Itis based on a representative sample of a
population.

(b) Itis based on data directly sought from the
respondents.

(c) Itis concerned with more general and
abstract problems.

(d) It covers large number of respondents
compared with other methods

Gandhi’s notion of Antyodaya refers to:

(a) Welfarism

(b) Assimilation of Harijan

(c) Inclusion of Harijan

(d) Rights to the bottommost section

Which of the following is not the characteristic of
informal economy?

(a) Flexibility

(b) Casualization

(c) Home based work
(d) Collective bargaining
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An Epistemological position that privileges
study of the subjective position and analysis of
contextis called

(a) Interpretivism
(b) Positivism
(c) Negativism
(d) Objectivism

When a political party or an ideology
hegemonize every aspect of society- social,
cultural, political, economic, it may
appropriately be termed as

(a) Authoritarian
(b) Totalitarian
(¢) Democratic
(d) Despotic

Identify the measures of variability among the
following:

i) Mean

ii)) Range

ii1) Mean Deviation

iv) Median

v) Standard Deviation

Select the correct answer using the code given
below:

Codes:

(a) (1), (i) and (v)
(b) (ii), (iii) and (V)
(¢) (1), (iii) and (v)
(d) (iii), (iv) and (v)

According to whom, the public sphere was a
place in which people could meet and have
critical debates about public matters?

(a) Jurgen Habermas
(b) Anthony Giddens
(¢) Manuel Castells
(d) Michel Foucault

‘Cybernetic hierarchy’ has been used by

(a) R. K. Merton
(b) T. Parsons
(¢) M. Foucault
(d) A. Giddens



